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1.

. .T5.T. 2018-19 F 3R R,

T # 1 & (i st )

(1) Sheftw & T 14% 1 Fem
S ? 3R T 48% HdEd o
TSR ST 2 |

(2) ST & T 18% H1 Frrem
<1 ? 3R T 52% wrfEd w2
IR | ‘

(8) Sft.#l.u. & & 12% 1 IR
QAT 8 3R T 48% wRlEe FY
U T R |

(4) AT & TM 16% F IeH
<A & o T 43% wRlEw @Y
TSR AT R |

TR e & Ty § i w® Ak
$ifde

(A) TR gra e araraor %1 fmto
(B) 933 TSty fiferat

(C) Wit argfiar

D) ya% faewh FRw wiw

IR N A B9 J g fepra wrEfy
F T B ?

(1) %3« (A)

(2) ¥4 (B) T (C)

(3) %3@(C)

(4) ¥ (A) W (D)

AR €. 0. T o ma o

(1) 1995-96 % umior &1 & TS
it Fmior 3 afg 0 gRwm |

(2) 2000-01 % Aoy & F fft Gt
T & gfg +a S hmm |

(3) 2004-05 ¥ urfior &=F & TS
it Fmior 7 gfg 1 & g |

(4) 1996-97 § mwftor &t & st Ioft
Twior & gfg F % R |

Survey 2018-19,

As per Periodic Labour Force

the primary

sector in India (agriculture and
mining)

(1) Contributes around 14% GVA
while it employs around 48%
of workforce.

(2) Contributes around 18% GVA
while it employs around 52%
of workforce.

(8) Contributes around 12% GVA
while it employs around 48%
of workforce.

(4) Contributes around 16% GVA
while it employs around 43%
of workforce.

Consider the following in context

of inclusive growth :

(A) Creation of controlled
environment by the
government.

(B) Strengthened fiscal policies.
(C) Increased Transparency

(D) Complete ban on FDI.

Which of the above shall be
components of inclusive growth
strategy ?

(1) (A) only

(2) (B) and (C) only

(3) (C) only

(4) (A) and (D) only

RIDF was established in

(1) 1995-96 to enhance public
sector capital formation in
rural areas.

(2) 2000-01 to enhance private
sector capital formation in
rural areas.

(3) 2004-05 to enhance public
sector capital formation in
rural areas.

(4) 1996-97 to enhance private

~ sector capital formation in
rural areas. :
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4.

.E.3N. 7 T 2020-21 § gy
StELd. % 7.7% F GFEA H AW
TR § | 9§ 1960-61 TSI WRA Y
S, § o G R | ug i
paq e ani g ge ¢

(1) 1965-66, 1971-72, 1979-80

(2) 1969-70, 1970-71, 1980-81

(3) 1969-70, 1973-74, 1981-82

(4) 1969-70, 1974-75, 1980-81
TSP 8 % foT U T Sne-wEy
= |1 2 Rt e 107 fifvrs sher
% AW % grr 80,000 feft A aifrs
& fomio f e H R 2

(1) SPRETAT IRESAT

(2) YT RS

(8) ufiq the HER

(4) Amise efafeeas arh

e o Wi it -

(A) 15-16 I, 2020 H IR
Txg 3.3 P wRfer i dom
% AN, WA T 4,1, Y Pifve-19
% IrER, Fa= 3 Jeuam & R é@
IR K f @ (o) 7w % 5o
TSI | B 37 1 ST i |

(B) e safere foman 1 arfes g ghifea
T <1 w3 o s v afwr

hifere- 19 et & e gu R

WA AN & TR @7 @
Foer s w% afk fafee e &
e &% R fafee fum 5
AT & ITH ST T |

1) 1 (A) w2 |

2 S @B Fd

@) A)IB) Tt

(@) SRAThTE R

" ks — et e} "

5.

NSO has estimated a contraction
of real GDP by 7.7% in 2020-21.
This is the fourth contraction in
India’s GDP since 1960-61. The

“earlier 3 contractions occurred in

(1) 1965-66, 1971-72, 1979-80
(2) 1969-70, 1970-71, 1980-81
(3) 1969-70, 1973-74, 1981-82
(4) 1969-70, 1974-75, 1980-81

A new umbrella programme for
highways sector envisages building
more than 80,000 kms of roads,
highways, greenfield expressways
and bridges by the investment of
107 billion dollar under

(1) Sagarmala Project

(2) Bharatmala Pariyojana ;

(3) Dedicated Freight Corridor
(4) Multimodal Logistics Park

Consider the

statements :

(A) During WTO TRIPS council
meeting held on 15-16
October, 2020, India and US
jointly proposed ‘waiver from
provisions of TRIPS
Agreements for the
prevention, containment and
treatment of Covid-19.

following

(B) This was done to ensure the
intellectual property rights
do not become a barrier in
the timely and affordable
access to medical products.

Choose the correct option :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct,

(4) None is correct



10.

|7 9R % SR Fe ffie w5 gae
q N AT g e g o Wi
1 TIF 2018 F 1463 H & I
Y 2020 ¥ fope W w o T 7

(1) wwraf
(2) JrgHeaT
(3) wrear
(4) w=TEaEl

IA-Ta=R 2020 % e, FeT I

&1 oo wfowa s edR @
IR @R 7

(1) 1.5%
) 3%
(3) 3.5%
@) 4%

T ¥ ad A v
ST e i e T em A R

(1) <rEa
(2) T@at
(3) <egat
(4) At

IA-Ta= 2020 ¥ (IdA-TER
2019 #t g1 #) 9Ra A 3 & <g
e dsR T eie ¢

(1) w@RmE
)
(8) AU
@) ewiga

H

et
i

India’s rank in trading across
borders parameter on ‘Ease of
Doing Business’ Index improved
from 146 in 2018 to which rank in
2020 ?

(1) 70th
(2) 68th
(3) 60tk
(4) 50th

During April-Nov.-2020, what

percent of total imports did
computer hardware and
peripherals account for

1) 1.5%

2) 3%

3 3.5%

1) 1%

Which position does Indian

pharmaceutical industry occupy
in the world in terms of value ?

(1) 8w
(2) 10tk
(3) 14th
(4) 15tk

Which country is a new entrant
among the top 10 export
destinations of India in April-
November-2020 as compared to
April-November-2019 ?
(1) Malaysia
(2) Germany
(3) Nepal
(4) Netherlands
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11.

12.

13.
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fom 4 @ form ag & sma § 2019-20
(W-Taw=R) H ger T 2020-21
(A-F=R) F A IR AR
HgeH & ?

(1) et g5t

(2) FFwafa o

(3) fffasss

(4) >ty wjehm, Sfyw

2019-20 (FA-Ta=R) HN Forw F

2020-21 (3A-Ta=R) it IEf F

e sy 29 & e wRa w1 =i

A Hger gl 8 6 wia =1 ged

A TR SR e @1 3

(1) W % 9§ qidARY 3R Jure
q i)

2) FH AR YF. Tl d

(3) q.F. & FIE TARY IR A Q

(4) §9 3RS & ] I F. q Heete
3

af 2020-21 H = F e vy |
T wrgrrEr Aem ¥ sl U9 T
1 50 7§ 3 s 7 w0 B By |
I FERar SeH R 1 @ R p
Tt fohae Siie Tau & orfres T8 R

(1) ¥ 12,000 Fs
(2) T10,000 Hs
3) % 14,000 F0e |
(4) 738,000 Hg |

11.

12.

13.

Which of the following
commodities showed favourable
trade balance’ during 2020-21
(April-November) as compared to
2019-20 (April-November) ?

(1) Electronic Components
(2) Vegetable Oil
(8) Fertilizers Manufactured

(4) Drug formulaticns and
Biologicals
India’s merchandise trade

balance for major countries for
period 2020-21 (April-November)
as compared to 2019-20 (April-
November) shows that India had
most favourable trade balance
with

(1) USA followed by Banglaesh

and Nepal.

(2) China followed by UK and
. Netherlands.

(3) UK followed by Bangladesh
and Nepal.

(4) Saudi Arabia followed by UK
and Netherlands.

During year 2020-21 under
‘Scheme for special assistance to
states for capital expenditure’
special assistance is being
provided to state government in
the form of 50 year interest free
loan upto an overall sum not
exceeding

(1) ¥ 12,000 Crores
(2) ¥10,000 Crores
(3) T 14,000 Crores
(4) % 8,000 Crores



14. 30 e, 2020 7% wRa & fra Tsat

15.

16.

17.

T W W FE el T
27

1) 14

@ 12

3) 10

4 8

W9 2020-21 % T Wa fFu M
e IEfy & o iy awer o
fom ¥ 2020-21 ¥q R w1 =1 @
JfenT T ?

(1) SEH. *12.5%

(2) AR *3.5%

(8) g .dt. w1 3%

(4) & w14%

2020-21 ¥ R-=xw §h wftmt 7 2.3
AT Fg AT T E, SR

(1) i@ %10.5%

2 . $10.75%

3 <. dt =1%

(4) .t #11.5%

2019-20 9., & MYR W FI TS
= % Wowa % §9 = W w5
Wi 3

(1) 26%

2 28%

(3) 20.6%

4) 30%

N
|
|
|
I
|
|

15.

16.

17.

14. As on 30 December, 2020 how

many states have implemented
‘One Nation One Ration Card’
System ?

(1) 14
2) 12
3) 10
@ 8

The medium term fiscal policy
statement presented with budget
2020-21 pegged the fiscal deficit
target for FY 2020-21 at

(1) 2.5% of GDP
(2) 3.5% of GDP
(3) 3% of GDP
(4) 4% of GDP

In 2020-21, the non-debt capital
receipts have been pegged at
% 2.3 lakh crores which is

(1) 0.5% of GDP
(2) 0.75% of GDP
(3) 1% of GDP
(4) 1.5% of GDP

As per 2019-20 PA interest
payments as a percentage of total
revenue expenditure accounts for

(1) 26%
@) 28%
(3) 20.6%
@) 30%
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18. =19 @ # &1 3 2020 § 3w fopw

19.

20.

21.
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T T YIET GER H1 ‘A7 ¢ A
TeHH b 3T TR 7

(1) Puew a@wdie

(2) %uag e

(3) <%\ UFd =T

(4) IR femn =mét

ATGHT & FTER 2019-20 F 3118 A-ft
f o &3 S BN A Uy Y g §
TEARG AW (50% A ARF) TR
e ?

(1) SRR 3T T ST Jand
(2) TEIW

@) #tfim

(4) A, Jard

2019-20 ¥ it wraef Surl & gt
7 I # A -, Jarel ¥
10 o v wer et wrom &

(D 3@Ex

@ 3.

(3) T (I . F Bieaw)

(4) R Al

*% 3R T g gHA e IR F
I % ¥ & g o w =1
2014-15 & 2020-21 (F.5.) 6 arafy
% G 6.2% & TgHT 81 T

(1) 8.8%

2) 6.8%

3) 7.5%

(4) 8.0%

A 4 — iy am——. Tru— s e — — —

18. Which of the following is not a

19.

20.

part of 3 pillars of ‘Honoring the

Honest’ platform of tax

administration reform launched

in August 2020 ?

(1) Faceless Assessment

(2) Faceless Appeal

(3) Tax Payer’s Charter

(4) Income Tax Department
Charter

As per. NASSCOM, which

subsector of IT-BPM sector

constituted majority share in
revenue of over 50% in 2019-20 ?

(1) Software products
engineering services

(2) Hardware

(3) BPM

(4) IT services

and

The second largest export market
for IT-BPM services in India in
2019-20 in terms of export-
earnings of India was

(1) USA

(2 UK

(3) Europe (excluding UK)
(4) Asia Pacific

. During the period from 2014-15

to 2020-21 (BE) the expenditure
on social services by centre and
states combined as a proportion
of GDP increased from 6.2% to

(1) 8.8%

(2) 6.8%
(3) 7.5%
(4) 8.0%



22. 2020-21 (S5 IgAW) & por-=w F

23.

24.

gidwa % ¥ § qunfie Jarel w wd
qn

(1) 20.5

(2) 22.5

(3) 23.5

(4) 26.5

S Site faee & g o 8 91 wue
IR ?

(1) e W T T GRT Joeret
R

(2) 2024 7% TSFATHS et T FFIH

(3) HHEH weifera HrlsHn

(4) Wi g Hfora HriswH

AEAqHT G, 2019 % dedl § Y @

FUTAH TE R ?

(1) S9F # 10,000 % THEe TuEd
¥ IEan VAT R B g@
TTHT T 200 A |

2 Y% 5 a9 F Jgau AeTaE
geieA

B) R I N ww wyuhw
IO T AT

(4) T 1 Faior AR F FgER
B

e — — o — A — et o — I T— ——— ry— ———

22,

23.

24.

The share of expenditure on
social services as percentage of
total expenditure in 2020-21 (BE)
is

(1) 20.5
(2) 22.5
(3) 235
(4) 26.5

What is not true regarding Jal
Jeevan Mission ?

(1) Enable every household get
assured supply of potable
piped water

(2) Provide functional tap water
connection by 2024

(8) Community managed
programme

4

Demand driven programme

As per the Code of Wages 2019,
which of the statements is not
correct ?

(1) The number of minimum
wage rate would be around
¥ 200 in entire country as
against 10,000 at present.

)

Revision of minimum wages
every 5 years.

(8) A statutory concept of floor
wage introduced.

(4) Wage to be fixed employment

wise.



w25

26.

27.
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T AR It % fw w9 @A
FITEAR/E ?
(A) afe Tt & FHaua =1 R s

T RN Imd B I ot
grErar 3R 1 F e $

frar & sgma & AR
gt |

(B) fe wnyfes SaRaT se7 Waq T
2 11 30 T8a! Gad g 3 seel S
2 3 R It st s
ST e |

(1) ¥ (A) T@R |

(2) ¥4 B) TR |

@) A @W®B AT E |
@ FQ)IMIA B &R

g AR % w2 5u SR ¥ Sad
Yot & wer Rrgait @ @ Yo @
e & Wi Y o way

(1) Iyt

(2) I ¥

(3) gt vy

(4) Imfa sma

TR 7Y & foe e F @ 99 qr

FITTAER 7

(1) ¥R o1 ¥ uSl & fy=em w5
oo Site T BT d |

(2) TR o7 | 0 ¥ = =5
s e W & s B

(8) TR ATy ¥ wel & e
' YT DAL |
TR 9T ¥ °e % e

e I @ it

|

o
i)

4

2 8y
6

iy

25.

26.

27.

Which of the following
statement(s) is/are true for a
histogram ?

(A) If the classes are of unequal
width then the height of the
rectangle will be proportional
to the ratio of the frequencies
to the width of the classes.

(B) If the grouped frequency

distribution is not continuous

first it is to be converted into
continuous distribution and
then the histogram is drawn.

Only (A)

Only (B)

Both (A) & (B)

Neither (A) nor (B)

(1)
)
®3)
4)

The diagram obtained by joining
the middle points of the upper
sides of the adjacent rectangles of
the histogram by means of a
straight line is called

(1) Frequency curve

(2) Frequency line

(8) Frequency polygon

(4) Frequency chart

Which one of the statements is
true for Arithmetic Mean ?
(1) Algebraic sum of the
deviations of a set of values
from their arithmetic mean is
equal to one.

gebraic sum of the
deviations of a set of values
from their arithmetic mean is

ater than one.

gebraic sum of the
deviations of a set of values
from their arithmetic mean is
Sﬁual to zero.

gebraic sum of the
deviations of a set of values
from their arithmetic mean is
greater than zero.

@)

@)

4)



28. WS % VU= % fraem & o W 9

29.

30.

el fore oM wmem B d
(1) 7= q

(2) Sgasd
(3) AEAHT®

@ =9

T B N[O HiE a1 ohad a0
% 520 3 R uften =it =1 aivg
M T 420 ® | ot i w1 i
999 A T 500 @ @ gey ik ufen
FHTHBT BT HTITT FT R 7

@D 3:1

@ 4:1

3) 5:2

4 2:3

Hifeeh & Ty F P T HH G D 7
(A) ¥ T&TH JEO A SHEiFa
- Hikg B RAfy F et # wed

1 TG A AR WET % ATl
1 3f|a H 7T i " R
Sare |

B) 47w feufa grasft sitaa 2

(1) %99 (A)

(2) %34 (B)

(3) T (A) 3k (B)

(4 7 (A) IARTH B)

10

28. The sum of squares of deviations

29.

30.

— ————— . — —— S — S—— T — —

of set of values is minimum when
taken about

(1) Mean
(2) Mode
(8) Median
(4) Zero

The average salary of male
employees in a firm is ¥ 520 and
that of female employees is
¥ 420. The mean salary of all
employees of the firm is ¥ 500.
What is the ratio of number of
male-female employees ?

1) 3:1
@ 4:1
3) 5:2
4 2:3

Which of the statements are
correct with regard to median ?

(A) In case of ungrouped data
with even number of
observations, the median is
obtained by taking the
arithmetic mean of the
middle terms after arranging
the observations in ascending
or descending order.

(B) It is a positional average.
(1) Only (A)
(2) Only (B)
(3) Both (A) and (B)
(4) Neither (A) nor (B)
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31.

32.

e df g1 sgers & A #1 Pykoy
1= 4 3 fopm ot & e srar @ 2

(A) 3 Fftrem IR Q@ W @ A
R WHET R g |

(B) 3R sftream i siew & wroy o
JTFATHE |

(1) %9 (A)

(2) %t (B)

3) (A) v (B) grit

@ T IRIEB)

= s 6t werew, vem gl Q)
T i 9ges (Q,) 1AW T ;

0/1/2 |3 |4 |5 |6 |7]|8

1/9/26(59|72(52(29|7

33.

58

(1) 7eHI=4,Q,=3,Q,=5
(2) T =3,Q,=2,Q,=4
(3) FEHI=5,Q,=3,Q,=6
4) TR =4,Q,=2,Q,=5

R ST F bR Y go FW F R
S T F B W AN T I
& ?

(1) =rex |
@) g
(3) wea
@ A

11

31.

32.

The value of mode is determined
by the ‘method of grouping’ in
which of the following cases ?

(A) If the maximum frequency is
repeated.

(B) If the maximum frequency
occurs in the very beginning

or at the end of the
distribution.

(1) Only (A)

(2) Only (B)

(3) Both (A) and (B)

(4) Neither (A) nor (B)

The median, first quartile Q)
and third quartile (Qg) of the
following distribution are :

x|0|/1(2 |3 |4 |5 |6 |7]|8

119/26|59|72(52|29(7]|1

33.

(1) Median=4,Q,=3,Q,=5
(2) Median=3,Q,=2,Q,=4
(3 Median=5,Q,=3,Q,=6
(4) Median=4,Q,=2,Q,=5

Which measure of central
tendency is most suitable to

compare the size of agricultural
holding ?

(1) Mean

(2) Mode

(3) Median

(4) None of these




34.

35.

36.

T e qe @t ey e @ g
TR FrafRed & 7

(1) s foree s o Aren e &

I AN R |

(2) Fum foraem q@ o f wem frgem
I AR |

(3) YN feraem qw o wren famem @
Hafa TE § | |

(4) v forser e =t mer frem %
HeT TR |

T &% T § T 3 ) B 91w

TR ?

(1) T&0 g6 & 9iEdT @ waT @ W
I & FiadT s inke f |

(2) YU YA & iy | fnk @ W
TR S EdT a @aT d |

(3) TET A & Ufeeq ¥ e @ ik
IR S uiEdT A @aT R |

(4) T 9@ * qiEdT W fik 2 sik
T % aftada w ik R |

e faor & dey & 99 91/ e
T/ ?

(A) WTed, §Eeh . AR HEHT ITeHT-
I W W AR R e ® |

(B) Fgdeh meh & TR g0 W A

ME| |
(1) Fa (A)
(2) %91 (B)
3 (A) 3 (B)
@ TQ) IRTE (B)
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34.

35.

36.

How is standard deviation
related to root mean square
deviation ?

(1) Standard deviation is the
highest value root mean
square deviation.

Standard deviation is the
least value root mean square
deviation.

Standard deviation is not
related to root mean square
deviation.

Standard deviation is always
equal to root mean square
deviation.

)
3)

4

Which one of the following is true

about variance ?

(1) Variance is independent of
change of origin but
dependent on change of secale.

(2) Variance is dependent of

change of origin, but

independent on change of
scale.

Variance is independent of

change of  origin and

independent on change of
scale. ;

(4) Variance is dependent of
change of  origin and
dependent on change of scale.

3

Which of the following
statements is/are true about a
skewed distribution ?

(A) Mean, Mode and Median fall
at different points.

(B) Quartiles are not equidistant
from Median.

(1) (A) only
(2) (B) only
(3) Both (A) and (B)
(4) Neither (A) nor (B)
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38.

39.

40.

41.

A normal curve is also called as
(1) Platykurtic curve

(2) Mesokurtic curve

(3) Leptokurtic curve

(4) None of these

In a frequency curve, the mode
was found to be higher than the
mean. This shows that the
distribution is

(1) Symmetric

(2) Negatively skewed

(3) Positively skewed

(4) Normal

The model which stipulates that
the conditions under which an
experiment is performed
determines the outcome of the
experiment is called

(1) Probabilistic Model

(2) Deterministic Model

(8) Unpredictable Model

(4) None of these

The first mathematical
foundation of probability was laid
in mid-seventeenth century by

(1) B.Pascal and P. Fermat

(2) J. Bernoulli

(3) P.S. Laplace

(4) De-Moivre

Several events in  which
happening or non-happening of
an event is not affected by the
supplementary knowledge
concerning the occurrence of any
number of remaining events are
said to be

(1) Mutually exclusive events

(2) Favourable events

(3) Independent events

(4) None of these
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42,

43.

44.

If a trial results in ‘n’ exhaustive,
mutually exclusive and equally
likely cases and ‘m’ of them are
favourable to the happening of an
event E, then the probability ‘p’ of
happening of E is given by

(1) p=m/n
(2) p=mmm
3 p=n/m
4) p=m"

What is the chance that a leap
year selected at random will
contain 53 Sundays ?

@ w7
2) 2/7
3) 3/7
(4) 4/7

Of the following, which physical
condition for a binomial
distribution is not correct ?

(A) The number of trials ‘n’ is
infinite.

(B) The trials are independent of
each other.

(C) The probability of success ‘p’
is constant for each trial.

(1) (A) is not correct.
(2) (B) is not correct.
(3) (C) is not correct.

(4) All options are not correct.
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46.

47.

Which of the statements are true

for a Poisson distribution ? |

(A) It is a limiting case of a
binomial distribution.

(B) It was discovered by Simeon
Dennis Poisson.

(C) The number of trials are
indefinitely small.

(D) The constant probability of
success for each trial is
indefinitely large.

(1) (A) and (B)

(2) (B) and (C)

(3) (C) and (D)

(4) (D) and (A)

Which of the following
statements holds good for a
normal distribution ?

(A) The graph is a bell shaped
curve.

(B) The top of the bell is directly

- above the mean.

(C) For large values of standard
deviation, the curve tends to
flatten out.

(D) For small values of standard
deviation, the curve tends to
flatten out.

(1) (A), (B) and (D)

(2) (A), (B) and (C)

(3) (B), (C) and (D)

(4) None of these

Consider the following equations :
X=a+hUand Y=b + kV where
a, b, h, k are constants and h > 0,
k>0.

Which one of the following
regarding correlation co-efficients
is true ?

M rXY<r@,V)

@ rXY)>r@U,V)

@ rXY)=r@U,V)

(4) None of these
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48.

49.

the

statements about correlation :

Consider following

(A) Two independent variables

are always uncorrelated.

(B) Two uncorrelated variables

are always independent.
(1) Only (A) is true.
(2) Only (B) is true.
(3) Both (A) and (B) are true.
(4) None of them is true.

Consider the following about
lines of regression :

(A) It is the line of best fit.

(B) It is obtained by
principles of least squares.

(O) It gives the best estimate to
the value of one variable for
any specific value of other
variable.

the

(1) Only one of the above is

correct.

(2) Only two of the above are

correct.

All the three of the above are
correct.

3)

(4) None of them is correct.

When do both the lines

regression coincide ?

(1) When the correlation
efficient is 0.5

(2) When the correlation
efficient is +1 or -1

(3)

)

of

When the correlation
efficient is 0.5

When the correlation
efficient is 0
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51.

52.

Which one of the statements is
not true about regression co-
efficients ?

(A) Correlation co-efficient is the

geometric mean between the
regression co-efficients.

(B) Regression co-efficients are
independent of change of
origin and scale.

(O) If one of the regression co-
efficient is greater than
unity, the other must be less
than unity.

(D) Arithmetic mean of the
regression co-efficients is
greater than the correlation
co-efficient r, provided r > 0.

(A)
(B)
@) ©)
4) D)
Which of the given statement is

not true for the ' following
regression equations ?

8X — 10Y + 66 = 0; 40X — 18Y —
214=0

(A) Mean values of X and Y are
13 and 17 respectively.

(1)
)

(B) Regression co-efficient of Y
on X is 0.8.

(C) Correlation co-efficient
between X and Y is — 0.6.

(1) A
@ B
3 ©
(4) None of these
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53.

54.

55.

56.

Consider the following statements -

(A) Multiple correlation relates
to study of joint effect of a
group of variables upon a
variable not included in the
group.

(B) Partial correlation relates to

study of only two variables

eliminating the linear effect

of other variables of the

group.

Only (A) is true.

Only (B) is true.

Both (A) and (B) are true.

Neither (A) nor (B) is true.

(1)
()
3
4)

If for two attributes A and B,
(AB) > (A) (B)/N

Then the attributes A and B are
(1) Positively associated

(2) Negatively associated

(3) Independent of each other
(4) None of these

If Yule’s co-efficient of association
of attributes A and B is equal to
+1, then the two attributes A and
B are

(1) Completely dissociated

(2) Completely associated

(3) Independent

(4) None of these

Consider the following statements :

(A) Statistical constants of a
population are called
parameters.

(B) Statistical measures of a
sample are called statistics.

Choose the correct option :

(1) Only (A) is true.

(2) Only (B) is true.

(3) Both (A) and (B) are true.

(4) Neither (A) nor (B) is true.
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58.

59.

Consider the following

information about two attributes

Aand B:

N = 1000, (A) = 470, (B) = 620

and (AB) = 320

What is correct about

association of A and B ?

1) A and (B) are positively
associated.

(2) (A) and (B) are negatively
associated.

(3) (A) and (B) are independent.

(4) None of these

the

Which of the following are true
about critical values ?

(A) It is value of statistic which

separates the critical
(rejection) region and
acceptance region.

(B) It depends on level of
significance.

(C) It also depends on the

alternative hypothesis.
(1) (A) and (B)
(2) (A) and (C)
(3) (B) and (C)
(4) (A), (B) and (C)

Which of the following is correct
regarding value of test statistic Z
under a normal test ?

(1) If modulus of Z is > 3, the
null hypothesis is not
rejected.

If modulus of Z is > 1.96, the
null hypothesis is rejected at
5% level of significance.

@)

(3) If modulus of Z is > 1.96, the
null hypothesis is not
rejected at 5% level of

significance.
If modulus of Z is > 2.58, the
null hypothesis is not
rejected at 1% level of
significance.

4



60. mm%éﬁuﬁﬁnwﬁw

61.

62.

L8

(A) wfteet wTew Ty Wey @ IAPEg
AR TE R |

(B) wfcrgst St wm wowor 1 SR
IFAER |

SUE AP T/ TR R/E

(1) &b Q) adig)

2) &b @B)wdie|

@) A) IR ®B) A E )

@ Q)T B TE R

FRT RS Tmw it el

AR ?

(A) 98 T @A Fif % |9y 9w
A e Tt g |

(B) S n (st 31R) 3= it 3w
YA BT R, FE T weT yHW
A TG AR |

(C) @ 1§ o =l &1 e &l ot
R adidmg

(1) Q@@ g

2 QT C)Tdrg)

(3) B) AT (C) TR T |

4 A), B) 7 (C) afi udi € |

w13 Tt wligor &) Jgar H 3fE w4t

% Hay 3 frg w fRmw st ;

(A) wfcest Sevr @ g =R |

B) B Igfa @i &7 ¥ 1t
e |

(C) #¥% A~ @ve it 5 &
& g T |

& e 1 951 IR

(1) (A) FFErRTE R

() (B) FFaER &g

(3) (C) w2 |

4) o e E)

20

60. Consider the following about the

61.

62.

unbiased estimate :

(A) Sample mean is not an
unbiased estimate of
population mean.

(B) Sample variance is an
unbiased estimate of

population variance.
Which of the above is/are
correct ? ;
(1) Only (A) is correct.
(2) Only (B) is correct.
(3) Both (A) and (B) are correct.
(4) Neither (A) nor (B) is correct.

Which of the following are true

about a chi square variate ?

(A) It is the square of a standard

. normal variate with one
degree of freedom.

(B) As n (sample size) tends to
infinity, the chi square
distribution tends to normal
distribution.

(C) The sum of independent chi
square variates is not a chi
square variate.

(1) (A) and (B) are correct.

(2) (A) and (C) are correct.

(3) (B) and (C) are correct.

(4) (A), B) and (C) all are correct.

Consider the following regarding

essential conditions for validity of

chi square test :

(A) The sample observation
should be independent.

(B) The total frequency should be
reasonably large.

(C) No theoretical cell frequency
should be less than 5.

Choose the correct option :

(1) (A) is not essential.

(2) (B)is not essential.

(3) (C) is not essential.

(4) All of these are essential.
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63.

64.

Consider the following regarding
chi square distribution :

(A) It can be used for testing
goodness of fit.

(B) It can be used to test the
homogeneity of independent
estimates of population
correlation co-efficients.

(C) It can be used to test the
homogeneity of independent
estimates of the population
variance.

Which option(s) is/are correct ?
(1) Only (A) is correct.
(2) Only (B) is correct.
(3) Only (C) is correct.
(49 Al (A), (B) and

correct.

(C) are

Which is not correct about t-
distribution ?

(1) It is used to test the
significance of the difference
between sample means.

(2) It is used to test the goodness

of fit.
3 It is
significance of an observed

sample correlation co-efficient
and sample regression co-

efficient.
(4) It is used to test the
* significance of observed
partial and multiple

correlation co-efficients.

used to test the =
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66.

67.

Consider the following regarding

assumptions of student t-test :

(A) The sample observations are
independent.

(B) The population
deviation is known.

standard

Choose the correct option :

(1) Only (A) is correct.

(2) Only (B) is correct.

(8) Both (A) and (B) are correct.
(4) None of these

Which one of the following is true
regarding F-statistic ? "

(1) It is a ratio of two
independent chi square
variates divided by their
respective degrees of
freedom.

(2) It is the product of two
independent chi  square
variates divided by their
respective degrees of
freedom.

(8) It follows the Snedecor's F
distribution.

(4) None of these

Which of the following is not true

regarding application of F-test ?

(1) F-test is used for testing the
significance of an observed
multiple  correlation
efficient.

co-
(2) F-test is used for testing the
significance of an observed
sample correlation ratio.

(3) F-test is used for testing
linearity of regression.

(4) None of these
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69.

Consider the following about

hypothesis testing :

(A) a, the probability of type I
error is also called as the size
of the critical region.

(B) (1 — B) where B is the type II
error, is called as the power

function of the test
hypothesis against the
alternative hypothesis.

©) In quality control

terminology, o and B are
termed as producer’s risk and
consumer’s risk respectively.

Which one of the
options is correct ?

(1) (A) and (B) are true.
(2) (B) and (C) are true.
(3) (A) and (C) are true.
(4) (A), B) and (C) are true.

As per PLFS, industry wise
estimates on workforce, the
number of persons employed in
agriculture in 2018-19 is

(1) About 28.7 crore
(2) About 25.5 crore
(3) About 30.6 crore
(4) About 21.5 crore

following

As per PLFS data the decline in
the number of unemployed
persons between 2017-18 and
2018-19 was estimated at about

(1) 70 lakhs
(2) 79 lakhs
(3) 85Ilakhs
(4) 69 lakhs
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According to UNDP Human
Development  Report, 2020,
India’s rank in HDI in 2019 out of
total of 189 countries was

(1) 129
(2) 130
3) 131
(4) 132

During 2019-20 (April-December)
as well -as 2020-21 (April-
December), the major driver of
CPI-C inflation was

(1) Light

(2) Housing

(3) Clothing and Footwear
(4) Food and Beverage group

Consider the following statements :

(A) The CPI-IW is compiled and
disseminated by Labour
~ Bureau on a yearly basis.

(B) This index number is used for

regulating dearness
allowance paid to the Central
and State Government
employees.

Choose the correct option :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.

(4) None is correct
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(1) 01 3139, 2014
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(8) 01 39, 2016
(4) 01 3%, 2017
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75.

76.

71.

The food inflation during April —
December period of 2020-21
increased to

(1) 8.4%

@ 9.1%

3 6%

4 7%

Under the Pradhan Mantri Garib
Kalyan Anna Yojana, the number
of beneficiaries provided
additional food grains above the

NFSA mandated requirements
till November 2020 was

(1) 50.92 crores
(2) 71.80 crores
(3) 75.90 crores
(4) 80.96 crores

The share of agriculture and
allied sector in GVA of economy
for the year 2019-20 (at current
prices) was approximately

(1) 17.8%
2) 20.1%
(3) 15.4%
(4) 16.3%

The Indian government is
implementing faster adoption

and manufacturing of (hybrid)

and electric vehicles in India
(FAME India) scheme with effect
from

(1) 01 April, 2014
(2) 01 April, 2015
(8) 01 April, 2016
(4) 01 April, 2017
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The Union Budget of 2018-19
announced that MSP would be
kept at the level of how many
times the cost of production ?

(1) 1.5

@ 1.25

3) 1.75

4) 2

The share of which product in
agricultural export value
remained the largest during
2015-16 to 2019-20 ?

(1) Marine Products
(2) Rice Basmati
(3) Spice

(4) Raw Cotton

The regional distribution of
agricultural credit in India in
2020-21 has been skewed in
favour of

(1) Eastern Region

(2) Western Region

(3) Northern Region

(4) Southern Region

Which recent agricultural reform
seeks to provide for a national
framework of contract farming ?

(1) Farm Produce Trade and
Commerce Act, 2020

(2) Farmer Agreement of Price

Assurance and Farm Services
Act, 2020

(3) The Essential Commodities
(Amendment) Act, 2020

(4) The Farmers Promotion and
Facilitation Act, 2020
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\ The

contribution of food
processing sector in GVA in
manufacturing in 2018-19 at
2011-12 prices was

1) 7.6%
(2) 8.98%
(3) 6.52%
@) 10.0%

Consider the following statements :

(A) Under the PMFBY individual
farm level losses arising out
of perils as cloud burst and
natural fire are not covered.

(B) The average sum insured per

hectare under PMFBY
increased from ¥ 15,100
during the pre PMFBY

scheme to ¥ 40,700 under
PMFBY.

Choose the correct option :

(1) Only (A) is correct.

(2) Only (B) is correct.

(3) Both (A) and (B) are correct.

(4) None is correct

The eight core industries
supporting infrastructure as coal,
crude oil, natural gas, refinery
products, fertilizers, steel, cement
and electricity have a total
weight in IIP of nearly

(1) 40%

@2 35%

3) 25%

4 30%
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As per calculations based on
MOSPI data regarding various
components of industrial sector,
the share of which component in
GVA has increased during FY
2012 to FY 2021 ?

(1) Mining
(2) Manufacturing

(3) Electricity, gas, water supply,
other utility services

(4) Construction

Regarding the initiatives taken
by Govt. of India to support start
ups which scheme enables a start
up to seeks assistance from any
empanelled facilitator to file and
process their application ?

(1) The fund of funds for start
ups
(2) Start up Yatra

(8) Start up Industry Academia
Partnership and Incubation

(4) Start up Intellectual Property
Protection

As per the Ease of Doing
Business Report 2020, the rank of
India in Ease of Doing Business
index for the year 2019 is

1 77
(2) 63
(3) 81
@ 79
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As per MOSPI in 2019-20, the
service sector share in GVA of
Delhi was

(1) 85.16%
(2) 80.29%
(3) 82.19%
(4) 81.26%

Which of the following sectors is
not a part of Production Linked
Incentive Scheme under the aegis
of Atmanirbhar Bharat ?

(1) Electronic Technology Product

(2) ‘Telecom and N etworking
Product

(3) Food Product
(4) Jewellery and Gems

As per the revised MSME
clarification of June 2020, a

medium term enterprise is one
which has

(1) Investment greater than ¥ 20
crore and less than ¥ 30 crore

)

Investment greater than ¥ 10
crore and less than ¥ 20 crore

(3) Turnover greater than ¥ 20

crore and less than ¥ 50 crore

(4

Turnover greater than % 30
crore and less than ¥ 100
crore.
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Match the following :

(A) Champions (i) Air Travel
Online Arrangement
Platform

(B) ATUFS (i) Rural

Electrification

(C) Saubhagya (iii) Scheme for

Textile
Industry

(D) Vande (iv) Help MSMEs
Bharat
Mission

Which option is correct ?
@A B ©) O
(1) Gv) Gi) G) @
(2 @) Gv) @ G
3 @ @ Gv) (i)
4) G(v) G) Gi) @)
As per RBI data India’s service
exports growth in 2019-20 was
1) 2.0%
2 2.5%
3) 3.0%
@ 1.5%
During April — September 2020

gross FDI equity inflow in
computer software and hardware
was

(1) US $ 12.55 billion
(2) US $ 14.55 billion
(3) US $ 17.55 billion
(4) US $ 11.55 billion
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94. According to

95.

the World
Report 2020 by
UNCTAD, India’s position in the

list FDI

Investment

of world’s largest

recipients in 2019 is
(1) 8t

(2) 9t

(3) 10th

(4) 11t

On the basis of 1971 population,
2011 population, fiscal capacity,
area, forest cover under the 14th
Finance Commission, the share of
first 6 states in descending order
is '

(1) West Bengal, Maharashtra,
Rajasthan, Uttar Pradesh,
Bihar, Madhya Pradesh
Uttar Pradesh, Bihar,
Madhya Pradesh, West
Bengal, Maharashtra,
Rajasthan .
Maharashtra, Rajasthan,
Uttar Pradesh, Bihar,
Madhya Pradesh, West
Bengal

Rajasthan, Maharashtra,
West Bengal, Madhya
Pradesh, Uttar Pradesh,
Bihar

@)

@)

4
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aEs e s F e =l @ =
ST T HHEUS AT

SEE 89 (eenE faiw
gy P SR IFIET
gt (0 (%)
QL 25 10 475 17.5
@ 35 10 175 475
3 30 10 305 29.5
@4 175 475 10 25
Tt =9 T ST IeTE B
(1) G a5
(2) Afeagg
(8) TE T
(4 faPmsg
1969-70 ¥ Mefic GRiE % ASHEG

TEHal  SHEE $1 fhaa AR W@
T ?

(1) 60%

2) 70%

(3) 80%

4) 50%

HIfee-19 &% THE R g T4 * fog
R THR a1 o S 3% 3foean 3
T Tieared U T 29.87 G g I
Hiyun 6t 2, TE TET Fehel TR I
w1 Rran wfowa et 2

(1) 13%

2 14%

(3) 15%

4) 16%
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The criteria for tax devolution to
states under the 13t Finance
Commission was
Population Area Fiscal Financial
(%) (1971) (%) Capacity Discipline
Distance (%)
(%)
(1) 25 10 47.5 17.5
2 35 10 17.5 47.5
3) 30 10 30.5 29.5
@ 175 475 10 25
Subsidised low cost housing is an
example of
(1) Public Good
(2) Merit Good
(3) Club Good
(4) Mixed Good
The weightage given to
population under the Plan
Assistance of Gadgil Formula in
1969-70.was
(1) 60%
2 70%
3) 80%
(4) 50%
To overcome the impact of Covid-

19, the GOI and RBI together
announced a total stimulus worth
T 29.87 lakh crores. It was what
percent of National GDP ?

1) 13%
2 14%
(3) 15%
4) 16%
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100. Which of the following is a

101.

102.

103.

developmental expenditure of

Indian Government ?

(1) Subsidy

(2) Interest Payments

(3) Defence Expenditure
(4) Tax Collection Charges

Which of the following is not a
salient feature of Fourteenth
Finance Commission ?

(1) Transfer of 42% of divisible
pool of taxes to states.
Reduction of grant to local
bodies.

Shift from schemes and grant
‘based support to a devolution
based support.

Introduction of new criterion
of forest cover regarding
sharing of resources between
states.

@)
3)

4

In Peacock Wiseman Hypothesis,
the effect whereby the Central
Government becomes a larger
proportion of aggregate public
sector is called

(1) Displacement Effect
(2) Concentration Effect
(3) Inspection Effect

(4) Substitution Effect

The Logic of Collective Action
was written in 1965 by

(1) Anthony Downs

(2) Mancur Olson

(3) Duncan Black

(4) JM. Buchanan
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Which of the following is not an
example of commercial revenue of
government ?

(1) Payment of Postal Charges

(2) Charges for Railway
Travelling

(3) Electricity Distributed by
publically owned utilities
(4) Charges in the form of fines

Secondary and Higher Education
Cess was levied under Act

(1) The Finance Act, 2007

(2) The Finance Act, 2004

(3) The Finance Act, 2000

(4) None of these

Central Tax which has not been

included in GST is

(1) Central Excise Duty

(2) Service Tax

(3) Export Duty

(4) Cess and surcharge imputed
by centre

The GST Law came into force on

(1) July 1, 2015
(2) July 1, 2016
(3) July 1, 2017
(4) dJuly 1, 2018

What is not true about GST ?

(1) It is levied only on value
addition.

It is a destination based tax
on consumers.

Exports are not treated as
zero rated supply.

Exemption from registration
to persons doing business on
a small scale.

()
3
4
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110.

| 109. Regarding taking input tax credit

from one tax to another under
GST, which of the following
statements is/are true ?

(A) CGST can be adjusted from
SGST.

(B) CGST can be adjusted from
CGST and IGST.

(C) SGST can be adjusted from
SGST and IGST.

Choose the correct option :
(1) (A), B) and (C) are correct.
(2) (B) and (C) are correct.
(3) (A) and (C) are correct.
(4) (A) and (B) are correct.

Which of the following is required

for double taxation ?

(A) Two taxes should be levied on
the same item or same tax
base.

(B) Two taxes should not be
levied on the same item or
same tax base.

(C) Two taxes should not have
reference to same period of
time.

(D) Two taxes should have
reference to same period of
time.

Choose the correct option :

(1) (A) and (C) are correct,

(2) (B) and (D) are correct.

) (3) (B) and (C) are correct.

(4) (A) and (D) are correct.
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The debt which is payable at a
distant date and for payment of
interest on which regular
provision is made is called

(1) Compulsory debt
(2) Redeemable debt
(3) Unfunded debt
(4) Funded debt

Which one of the following is not

a method of redeeming public
debt ?

(1) Sinking Fund
(2) Conversion of Loans
(3) Terminal Annuities
(4) Grantsin Aid

Which of the following is not
correctly matched ?

(1) Club Good — Swimming pool
(2) Merit Good — Satellite TV
(3) Public Good — Street light
(4) Private Good — Food

Who observed that a pure public
good leads to market failure
because of difficulties connected
with information transmission ?

(1) Clarke-Groves
(2) Samuelson

(3) C.M. Tiebout
(4) Eric Lindahal
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Non-rivalness, non-excludability
and impossibility of rejection are
characteristics of

(1) Private Good

(2) Pure Public Good
(3) Merit Good

(4) Mixed Good

Which of the
statements is correct ?

(A) Merit Goods are provided
through public -budget but
without taking into account
consumer preferences.

(B) Merit Goods are for certain
groups of community and
their consumption is limited
by distribution of income,

following

Choose the correct option :

(1) Only (A) is correct.

(2) Only (B) is correct,

(3) Both (A) & (B) are correct.

(4) None is correct

Who has opposed the capital levy
method of redemption of public
debt ?.

(1) J.R. Hicks
(2) Ricardo
(3 Pigou

(4) Dalton
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118. During the initial months of

119.

120.

Covid-19, India used precious
resources to

(A) Ramp up discretionary
consumption
(B) Ensuring essentials were

taken care of

(C) Direct benefit transfer to
vulnerable sections

Which of the above options is/are

true ?

1) A), B & (©)

2 B) & (C)

3) (A) & (C)

4) A & (B)

A counter cyclical fiscal policy

implies ,

(A) Decreasing government
expenditure during recession.

(B) Decreasing taxes during
expansion.

(C) Increasing government
expenditure during recession.

(D) Decreasing taxes during
recession.

Choose the correct option :

(1) (A), (B) and (D) are correct.

@) (C) and (D) are correct.

(3) (B) and (C) are correct.

(4) (A) and (B) are correct.

Public Goods are

(A) Non-Rival and Non-Excludable

(B) Rival but Excludable

(C) Market failures do not
predominate in the provision
of public goods.

(D) Market failures predominate
in the provision of public
goods.

Choose the correct option :

(1) (A) and (C) are correct.

(2) (A) and (D) are correct.

(3) (B) and (C) are correct.

(4) (B) and (D) are correct.
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122,

123.

- @)

@)

| 121. Which of the following statements

is correct ?

(1) According to classical
economists there is no
fundamental difference

between inter-regional and
international trade.
(@) According to Ohlin the
difference between inter-
regional and international
trade is of kind.,
According to Ohlin
difference between inter-
regional and international
trade is of degree.
Labour and capital are
completely mobile within
country and as well as
between countries.

Which of the following is a merit
of opportunity cost theory ?
(1) It draws attention towards

the  subject of
substitution.

It takes into account the fact
of change in factor supplies.
It is based on the assumption
of perfect competition in factor
and commodity market,

(4) It gives preference to leisure.

3) the

(4)

factor

@)

Which of the following is not an
assumption of Ricardo’s theory of
comparative cost ?

(1) There is no government
interference in the economy.

The output changes in
greater proportion to the
change in input.

Labour is completely mobile
within  the country but
immobile between countries.

There is no transportation
cost.

)

3)
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124.

125.

126.

127.

128.

Reciprocal demand theory was -

developed by

(1) David Ricardo
2 J.S.Mill

(3) Marshall

(4) Ohlin

Vent for surplus theory was
propounded by

(1) Adam Smith
(2) Ricardo

(8) Mac Dougall
(4) Bela Belassa

Who contributed to the theory of
comparative cost by impressing it
in money terms ?

(1) Hla Myint

(2 J.S.Mill

(8) Samuelson

(4) Taussig

In the opportunity cost theory of
international trade MRPTyy is
equal to
(1) The marginal cost of X
(2) The marginal cost of Y

MCy
® o,

(4) Zero

In the opportunity cost theory of

international trade under

constant cost, if two countries are

of unequal size, there will be

(1) complete specialization in
small country.

(2) complete specialization in big
country.

(3) incomplete specialization in
small country.

(4) the big country will get more
gain from trade.
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129. On examining Heckscher Ohlin

130.

131.

Model of international trade by
using physical criterion of factor
abundance, when will the theory
stand valid

(A) If the consumption bias and
the production bias are
towards the same direction in
both countries.

(B) If the consumption bias and
the production bias are in
opposite direction in both
countries.

Choose the correct option :

(1) If (A)is correct.

(2) If (B) is correct.

(3) If both (A) and (B) are correct.

(4) Neither (A) nor (B) is correct.

Which of the following is not an
obstacle to factor price
equalization theory ?

(1)

Monopolistic competition in
product market

@)
3)

Diminishing returns to scale

Factor immobility between
countries

(4) Completely free trade

In Balance of payment structure
import and export of visible and

invisible commodities are a part
of

(1) Current Account

(2) Capital Account

(3) Account of Financing

(4) Official Settlement Account
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132.

133.

134.

135.

National Highway Authority of

India is which type of Public

Enterprise ?

(1) Departmental Undertaking

(2) Government Company

(8) Statutory Corporation setup
by-an Act of Parliament

(4) Autonomous Body registered
under Societies Registration Act

What is not true about the public
corporation form of public
enterprises ?

(1) State is the owner of public

corporation.

(2) It does not have independent
existence in respect of
finance.

(3) It can enter into contracts
and acquire property in its
name.

(4) Employees of the public
corporation are not civil
servants.

Which of the following is not a
characteristics of public utility ?

(1) Public utility deals in
services.
(2) They are given monopoly

rights by government and
regulated so as to protect
consumer interests.

The services provided by
public utility is transferable.
They are characterized by
heavy initial investment in
plant and equipment.

3
4

According to Marshall Lerner
condition devaluation would
improve trade balance if sum of
elasticities of demand for exports
and imports is

(1) equal to one

(2) less than one

(3) equal to or less than one

(4) greater than one

58



136.

137.

138.

58

YA A FEReE & i

Ry fafy & srvfa o & & s

ST NS R AT

FYT TR ?

(1) =R dgee & gur omar 2 afe
S H Hw wott wE @
FHEA R |

(2) SR Tger & frrae ot & ofe
SN Ht W w5ty w=E @
FAEN R | '

(3) MR Hge & firre el € af
FIST H A Ty v F
TR |

(4) HUR T § gurR arar @ AR
Iy it i wgfy e A
A Bt B |

M IR W& =1 A s W
SIS & et € o 5 S B 2

(1) i grey

(2) TSI TR

(3) TorE TR

(4) s IfR=

=1 Torbrta firanatt % arta & &
HIET TR F qafds womear w1
AN § T O qgwqyt i aveve
F T H W R W F T A A
ST ?

(1) SR

(2) TSRa HRY

(3) wmfirs wrRr

(4) Tompit He

e e S Tt —— ——————— ———

43

136.

137.

138.

In  absorption approach to
devaluation regarding balance of
payment adjustment for a given
value of marginal propensity to

import, which statement is

correct ?

(1) The trade balance will
improve if marginal
propensity to absorb is less
than one.

(2) The trade balance will
worsen if marginal
propensity to absorb is less
than one.

(3) The trade balance will
worsen if marginal
propensity to absorb is equal
to one.

(4) The trade balance will
improve if marginal
propensity to absorb is

greater than one.

If borrowing and liabilities are
added to budgetary deficit it
becomes equal to

(1) Primary deficit

(2) Fiscal deficit

(3) -Revenue deficit

(49) Budgetary surplus

Which deficit is an indicator of
the exact indebtedness position of .
government under current fiscal
operations and an important
policy parameter to save the
country from falling into debt
trap ? '

(1) Budgetary deficit

(2) Revenue deficit

(8) Primary deficit

(4) Fiscal deficit
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. Which are the

139. Which of the following is correct

regarding guiding principle for

setting up a universal basic

income ?

(A) De Jure Universality, De
Facto Quasi Universality

(B) Gradualism )

(C) Redistribution of resource
transfers to states

(D) The system should not be
self-targetting

Choose the correct option :

(1) Only (A) is correct.

(2) Only (A) & (B) are correct.

(3) Only (A), (B) and (C) are
correct.

(4) All options are correct.

140. What is not true about PM

Kusum Yojana ?

(1) It was announced by Shri
Arun Jaitley.

(2) It promotes the use of solar
energy in farming.

(3) The government will give
70% of total cost of solar
pumps as subsidy to farmers.

(4) Farmers will have to make
only 10% payment towards
establishment of solar energy
apparatus.

mitigation

measures to combat the outbreak

of Covid-19 in India ?

(1) Home Isolation of Suspect
Cases

(2) Use of Masks:
(3) Social Distancing
(4) All of these
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142,

143.

Due to stringent lockdown in
India during Covid-19 and the
financial  stimulus provided
during that period it was possible
to attain

(1) V shaped recovery
(2) L shaped recovery
(3) U shaped recovery
(4) W shaped recovery

During the first two quarters of
financial year 2020-21, the
Government of India did not
ensure —

(1) To provide a cushion for poor
and to businessmen to tide
over the distress caused by
disruption of economy.

(2) To provide food security
through public distribution
system under PMGKY.

(8) To support investment and
consumption demand

through Atmanirbhar Bharat
2.0 and 3.0

(4) To provide debt moratoria
and - liquidity support to
businessmen.

. Since when did the bank notes of

Mahatma Gandhi series of 2 500

and ¥ 1,000 denomination cease

to be a legal tender ?

(1) Midnight of 06 November
2016 '

(2) Midnight of 08 November
2017

(8) Midnight of 08 November
2016

(4) Midnight of 09 November
2016
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145.. Which- -

of the following
statement/s is/are correct
regarding a functional ﬁscal

policy ?
‘(A) The state should assume a

passive role in the economic
affairs of the country.

(B) The state should assume an

146.

active role in the economic
affairs of the country.

(C) The budget should be
balanced.

(D) The government should incur
public debt during inflation.

Codes:

(1) (A) and (B) are correct.

(2) (B) and (C) are correct.

(3) (C) and (D) are correct.

(4) (B) and (D) are correct.

The method adopted with a view
to eliminate or reduce tax burden
and technically satisfying the
requirements of law constitute

(1) Tax Evasion
(2) Tax Avoidance
(8) Tax Exemption
(4) Tax Planning

. It is harder for the government to

ensure debt sustainability when
the interest rate growth
differential is

(1) Positive -

(2) Negative

(8) Zero

(4) None of these
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HTHEISH F HROT Aefaeen § fyg a8
2020-21 # et fommdt @ gwdt fommd
4 Ff=Een (GDP) # wmow: Rea
e @1 7

(1) 23.9% 9 7.5%

(2) 28.6% 3 6%

(3) 26.6% T 8.4%

(4) 20.9%96.5%
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148. The

149.

150.

contraction in .(GDP)
economic activity during the first
and second quarter of fiscal year
2020-21 respectively due to
stringent lockdown imposed in
March-April 2020 was .

(1) 23.9% and 7.5%
(2) 28.6% and 6%

(8) 26.6% and 8.4%
(4 20.9% and 6.5%

As per National Health Policy,
2017 an increase in public spend
from 1% to 2.5-83% of GDP can

decrease the out of pocket

expenditure from

(1) 70% to 40% of overall
healthcare spend.

(2) 70%  to 30% of overall
healthcare spend.

(B) 65% to 30% of overall
healthcare spend.

(4) 65% to 40% of overall

healthcare spend.

What scheme was launched by
the Government of India to
provide much needed relief to
stressed sectors by helping
entities sustain employment and

meet liabilities during Covid-19 ?
(1) GKRA

(2) PMJDY

(3) DBT

(4) ECLGS
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